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Q.No: 1 Post the Madhya Pradesh Reorganization Act, 2000, where was the High Court of Chhattisgarh established?

2642890
T YR THaA SfIfEW, 2000 ¥ YT BTRATG I e Sl R 35 T ar?
Raipur
A
IAYR
Bilaspur
B
[EEIGE
Korba
C
FRaT
Ambikapur
D
SifyPTgR

Correct Ans : B

Subject : Gen.knowledge

Q.No: 2 Which of the following monuments is not a UNESCO World Heritage site?

2680641
Frafifed § § B 91 TRS g% 31 3y eRie e T8 82
Agra Fort
A
STRT BIE
Buddhist Monuments at Sanchi
B
wih # dig ¥R
Historic city of Ahmedabad
C
3rgwgraTg P fETRie weR
Victoria Memorial
D

fazeifvar anifeaa

Correct Ans : D

Subject : Gen.knowledge

Q.No: 3 Who is the Lieutenant Governor of Delhi as of February 2023?

2683609
TR 2023 & Rk & IRoaue S 82
Kiran Bedi

A
fpeor 3t

B Vinay Kumar Saxena
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faa AR w
Arif Mohammad Khan
C
IR Hgwe @™
Sunil Saini
D
gt &

Correct Ans : B

Subject : Gen.knowledge

Q.No: 4 Who is the Author of the book "Jyotipunj"?

2732789
"SAfAYE" qES & AEE D 57
Ram Nath Kovind
A
M ATY PG
Narendra Modi
B
e W
Hamid Ansari
C
Fifirg SRt
M. Venkaiah Naidu
D

. JHa1 IHg
Correct Ans : B

Subject : Gen.knowledge

QNo:5 __, aSufipoet, contributed to the evolution of Qawwali.
2733370
TP g Hid A pard & e § drer faan
Al-Biruni
A
Sra-fast
Amir Khusro
B
it gt
Al-Zahrawi
C
Sre-wreedt
Al-Mutanabbi
D

S-S

Correct Ans : B

Subject : Gen.knowledge

Q.No: 6  Identify the segment in the sentence which contains the grammatical error from the given options.
2621223
Self-care, which most happens outside the formal health system, is nothing new.

A Self-care, which most
happens outside the

C formal health system,
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D is nothing new.
Correct Ans : A

Subject : Gen. English

(22.6’\‘605:2764 Select the correctly spelt word.
A sacrilagious
B sacrelegious
C secrelagious
D sacrilegious

Correct Ans : D

Subject : Gen. English

Q.No: 8 In the below question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses the same sentence in
2676183 [ndijrect/Direct speech.

"I was not aware of this," I said to her.
A I told her that I had not been aware of that.
B I told her that I was not aware of that.
C I told her that I had not been aware of this.
D I told her that I am not aware of that.
Correct Ans : A

Subject : Gen. English

Q.No: 9 Four alternatives are given for the idiom/phrase bracket in the sentence. Choose the alternative which best expresses the meaning of the idiom/phrase and mark it.
2688786

The teacher announced that she had no (blue-eyed boys) in the class.

A Royal children
B Young boys

C Foreigners

D Favourites

Correct Ans : D

Subject : Gen. English

Q.No: 10 Which of the following are short-day plants?

2639586
Fiafifed & § B-8 ay-Rada 99 &2
Tobacco
A
darg
Banyan
B
Mg

The mango tree

Cc
S P IS
Soy methi
D
wraradt

Correct Ans : A

Subject : Gen. Science

Q.No: 11  When marble chips are treated with HCL, which of the following gas is liberated?
2683790

9 R e Teiia & @y ufier fhar o 8, df Pofifed @ $ w i Rem?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

GET IT ON

Google Play

CO,
A
CO,
OJ
B
OE
co
c
co
CO,
D
CO,

Correct Ans : A

Subject : Gen. Science

Q.No: 12 The idea of number of image/jpgs formed by mirrors placed at an angle to one another is used in a to make numerous beautiful patterns
2695051

T g Y BV R W 0T gRI S T8 Sl @ §eT & R S IuEn A ¢ Yoz Ve 1 & g foan o @

Kaleidoscope

A

Periscope
B

IR

Telescope
C

Microscope
D

AEHRSY

Correct Ans : A

Subject : Gen. Science

Q.No: 13 In which unit is molar mass expressed?

2695140
AR e 5 3HTS # oaed fpan Sl 82
mol

A
o
g/mol

B
RICIACIC]
g-mol

C
qT-w
mol/g

D
e / 9w

Correct Ans : B

Subject : Gen. Science
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Q.No: 14 Find the sum of numbers which are irrational among the following numbers.

2639435
(+/50 + /54),v/2450,,/(3 x 4 + 6 x 4 + 13),,/(16 x 4 + 12 x 3),(v225 - 3+/6)
Frafaed 3 § sufig Sestt &1 4 g1d B
(V50 + +/54),4/2450, /(3 x 2 + 6 x 4 + 13),,/(16 x 4 + 12 x 3),(¥225-3/6)
7(5v2-2)
A
7(5v2-2)
7(5v2 + 2)
B
7(5v2+2)
5(8v2-3)
C
5(8v2-3)
5(8y2 + 3)
D
5(8v2 + 3)

Correct Ans : D
Subject : General Aptitude

Q.No: 15 Choose the one which is different from other three alternatives

2641531

f3u T et & A 39 fabey B gAY, S o A Redl § i Bl

Larceny
A

LUl

Robbery
B

T©

Snobbery
Cc

ST

Burglary
D

Ay

Correct Ans : C

Subject : General Aptitude

Q.No: 16 A word has been given, followed by four other words, one of which can be formed by using the letters of the given word. Find that word.
2642053

DEMOCRACY

TS Wex a1 T}, RS a1 IR 9 W AT MY ¥, RFH ¥ U AU T Weg & SieRT T UGN G I O Tl 7| 98 Teq Wiail|
DEMOCRACY
SECRECY
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SECRECY
MICRO

MICRO
MARCY

MARCY
DEMON

DEMON
Correct Ans : C

Subject : General Aptitude

Q.No: 17 A merchant has 1000 kg sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains 14% on the whole. The quantity sold at 8% profit is -

2673306

T SURT % U 1000 fBIm. = }1 39 BT B YN 98 8% WY W 3R A 18% ATH TR S=IT 81 S $d 14% ATH Bl 31 8% T1H W et AR & -

600 kg
A

600 kg

400 kg
B

400 kg

640 kg
c

640 kg

560 kg
D

560 kg

Correct Ans : B

Subject : General Aptitude

Q.No: 18 G is centroid of the triangle ABC, where AB, BC and CA are 7cm, 24cm and 25 respectively, then BG is:
2643029

YT ABC &1 F5b G 8, STD! YOE AB, BC 3R CA HHRT: 7 cm, 24 cm 3R 25cm 1 BG &1 AN §:

1
6-cm
a

1
6= cm
3

1
8-cm
3

1
8-cm

1
5-cm

1
5-cm
2

1
4-cm
6

1
4-cm
6

Correct Ans : B
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Subject : Gen. Maths

Q.No: 19 Acanrun 2 kmin 2 min and B can run the same distance in 3 min. What is the distance travelled by B in the same time as A travels, when they start simultaneously in the ra
2672919 .

A, 2 fire & 2 it 9o 9o § ok B I gt Y 3 e o 9 o Uahd 81 99 3 U W1y 5 i Y <ie g R § o A gRT e T T B B R 99 @1 T g fbah 82

2 km
A
2 it
4 km
B
4 foht
4.5 km
c
4.5 it
5.5 km
D
5.5 foseit

Correct Ans : A
Subject : Gen. Maths

36%02:92709 A car covers a certain distance in 9§ hrs_ If the speed is increased by 9 km/hr. then it will take 80 minutes
less to cover the same distance. Find the distance covered by car?
U FR W AT gt of ave # au awdr &1 A swhr e o feedi/aver @er & S A
3U 39 Gl & a7 ST A UG T 3TUET 80 fFET ®H WHG @O 6 FR AN oF T A5
gl A w0
576 km
A
576 f&.
504 km
B
504 o,
448 km
C
448 .
588 km
D
588 o,

Correct Ans : B

Subject : Gen. Maths

Q.No: 21 In a match of world cup 2019, Rohit scored 130 runs which included 6 boundaries and 5 sixes, 18 2’s and remaining 1's. What percent of his total score did he make by 1's?
2687796

% 59 2019 & T A9 &, IRT 7 130 I FC FH 6 I 3R 5 T, 18 3 IS AR AW TP aIs AT 31 $dA WhR BT T YA I U aIg F

23

=G
=

=
&=

—
E=

o
G
o

o
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145 %
13
34 o
13
C
34=%
185 %
13
D
185 o4
13

Correct Ans : A

Subject : Gen. Maths

QNo: 22yt §f @ SH-T1 Tsg HHURY AT BT &l ISR 22

2660133
A st
B g
c EEECED
D fravh

Correct Ans : C
Subject : Gen. Hindi

QNO: 23t # & Al @1 g 9 @ g

2660741

A R
B HIA
C HITT
D A

Correct Ans : A

Subject : Gen. Hindi

Q:No: 24 gy varel, orr WY §1 & Wit e Fret F § - 82

2661180
A YTaaTs
B Fejar
C Fifara
D forararar

Correct Ans : B

Subject : Gen. Hindi

Q:No: 25 frofafird & § -1 a9 SHUIEH HRE BT IR 32

2666818
A 9% 9R &7 & amem
B TeH, Higd & I A B
c R WA @RI
D BIA-H 91 W 7E adS

Correct Ans : C

Subject : Gen. Hindi

Q.No: 26 What is the term used for amputation of both the right and left limbs?
2748961

3T 3R ST G 3 & faredet & o o wsg 1 wainT fopan e 32

A Transradial amputation
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T fasdew
Bilateral amputation
B
feruefra fadea
Transhumeral amputation
C
giaEgaRd fasde
Unilateral amputation
D

THaRET e

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 27  Which type of amputation occurs through the long bones of the radius and ulna?
2748962

AT SR I Bt it gfFAr & A ¥ 59 TR &1 fAwyeH giar 82

Wrist disarticulation amputation

A
FATE PT TS fArdeT
Transhumeral amputation
B
givEgERe fasded
Transradial amputation
C
Trfeae e
Elbow disarticulation amputation
D

PBIgt BT SRiTGaT fade
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 28 What term is used for amputations that are closer to the centre of the body than the shoulder?
2748963

STTyE & T BIH-T1 Wee TN b1 STl B W 9 B o § IR F Fg b B gr 87

Partial hand amputations

A
31 BTy fawdeq (Partial hand amputations)
Transhumeral amputations

B
g ggERd fa®deT (Transhumeral amputations)
Interscapulothoracic amputations

(o
Wﬂ?ﬁﬁﬁﬁf e (Interscapulothoracic amputations)
Elbow disarticulation amputations

D

PIgt BT 3RiTGT fawde (Elbow disarticulation amputations)
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 29 What is the term used for an amputation through a joint?
2748964

e & Ty ¥ fowed F o v wrsg &1 v fosan Siar 82

GET IT ON
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Transradial amputation

A
TrRfead fde
Bilateral amputation
B
feuehta frde
Disarticulation
(o
ST
Interscapulothoracic amputation
D

FEP AR e
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 30 What is the significance of cosmetic coverings for prosthetic devices?

2748970
SR IR & T e HafkT $1 71 Ugd 32
They enhance functional restoration.
A
3 Prafers FETR B ag T
They provide high-definition anatomical details.
B
3 3= ufeurar IR faRor vere a7
They resemble the skin tone of the lost limb.
C
3 @Y gU ST B @ & T e g g1
They prioritize social interactions.
D

3 Wi ofa:frarait Y wrufiear 3a 81

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 31 What is the Oberg-Manske-Tonkin (OMT) system?

2748971

Siraf-ArRep -Sifept (St yomedt @ 82

A classification system for congenital limb deficiency (CLD)
A

ST 3 3 S (FHgash) F e ww arffewor yomedt

A classification system for acquired limb deficiency
B

Sifmfea ot @t HHt & g ve anffevor yomeft

A classification system based on longitudinal deficiency
C

gl ¥ SMUR W TH Fulfenvor yoredt

A combined diagnosis for patients with CLD
D

et & At & Rg we Wy Fam
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 32 Which classification under the Oberg Manske Tonkin Classification involves a fully developed limb that sustained an insult?
2748972
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it T cifer Fifevur & dgd fobw arifevor o wep ol ARy ot <firer 8 S U SIUH &1 AT SRl 82

Deformation

A
fa=gur
Malformation
B
fapfa
Dysplasia
C
fewafRmar
Associated syndromes
D

e
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 33 Which classification under the Oberg Manske Tonkin Classification involves the entire limb or axis being involved?

2748973
el T S Hifepvr & ed b anife<or & Tyuf s o g wfde 82
Deformation
A
fauor
Malformation
B
fapfa
Dysplasia
C
fwmifmar
Associated syndromes
D

= Rie)
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 34 What are the subgroups of longitudinal limb deficiencies based on their location along the long axis of the limb?
2748974

37T BT Tt Yt B WY b WH S MUR W et 3T 3 HH $ ITUHg T 8?2

Preaxial, postaxial, and axial

A
e, degfRre, ok s
Terminal and intercalary
B
e ok gevaadt
Fibular and ulnar
C
BIEgeR 3R STR
Radial and tibial
D

ega ok Refyga

Correct Ans : A

Subject : Prosthetic Orthopedic
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Q.No: 35 What is the purpose of bimanual functional skill retraining in prosthetic rehabilitation?
2748984

nRfew Refifiewm & sEAgerd thaerd ea Refim &1 35w #7182

Improving basic gross motor skills

A

FrE woa Hiel Pivd § gUR

Enhancing fine motor skills
B

3t wex Biva 7 iR

Reinforcing consistent and accurate device control
c

AR 3R W fEargw A= &) aegg wAr

Allowing anatomically correct object manipulation
D

RIS T § WE I ITPY B AN S

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 36 Who typically provides training in the use of the prosthesis during prosthetic rehabilitation?
2748985

nRfed Reffiew & R TARM % IuE # AR W URIer $19 e bdl 82

Specialist physical or occupational therapists

A
fardrog aifves a1 araaRe fafdeas
General physicians
B
e fafeee
Family members of the patient
C
It & ufvar & wewr
Prosthetic service providers
D

WRAfe® Har werar

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 37 Which types of terminal devices are available for both myoelectric and body-powered prostheses?
2748986

TEdfaes AR Sidt-uas MRARM Q1 ¥ Rt e yoR & e feay Suaw 2

Only hooks
A

Ha §B

Only hands
B

Fad gy

Hooks and hands
Cc

TP AR FY

Only cleats or cable locks
D

Fad Fe 1 Fad qPd
Correct Ans : C

Subject : Prosthetic Orthopedic

GET IT ON

Google Play
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Q.No: 38 What is a limitation of voluntary opening (VO) devices for body-powered prostheses?

2748987
TRR-GaIfed HEAT o F e Wiss g (Vo) Susuit @t wr @@ 82
Limited grip strength due to rubber bands or springs
A
R I3 71 B F FRor Wi tws i
Limited durability of the hooks
B
§F 31 it =il
Inability to interchange hooks and hands
C
g% 3R TTdi Y oo # wea § ervwdar
Difficulty in maintaining tension on the harness
D

THE TR 19 §91C 7@ | Bi3rs

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 39 For a body-powered system, what is required to fully open a standard voluntary opening (VO) hook?

2748988
TRR-Tfd vomeh & o, AHe Wiwss % (VO) g% &1 It @ie I Wian & RO a4 Sfavas o2
0.5 inches of cable excursion
A
Had YA BT 0.5 59
1 inch of cable excursion
B
P YA BT 1 5T
2 inches of cable excursion
C
Had YA & 2 59
2.5 inches of cable excursion
D

ST YT BT 2.5 §F
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 40 What is the purpose of incorporating motosensory devices into the osseointegrated prosthesis?

2748997
SREEIRS MRARE § AR Juaull 1 M FR 1 I /18 ?
To improve FDA approval
A
TEIIT I # GUR T F g
To bypass clinical trials
B
Aarie wtel Y U F F Rig
To enhance control of the prosthesis
(o
P 31 & e 1 ggM & g
To complete the socket fitting process
D

ibe fisfe uftrar ot 1 H31 F fog
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Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 41 What is the purpose of defining the forward and sideways directions for quantifying the geometry of a prosthesis?

2748998
TR @ Sfif] B A & o ot ofR s & fammelt @ ufvvifia F @1 St @ 82
To determine the position of the knee joint centre
A
e & Ogw % o Rufa Frufa #37 & R
To establish a frame of reference for measurements
B
1 ¥ g Tayf 1 ve hH =fta $31 & Rig
To describe the orientation of the SACH foot
C
7 Be $ I BT qui4 B $ RiT
To form a right-handed orthogonal system
D

21¢ BTy FI irdTi=e yomeht a9 F forg

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 42 What is the purpose of the chains of four bar linkages in the socket axes locator?

2748999

Wihe Ufed Aider H IR IR e F1 ikl &1 a1 IR 72

To estimate the x and z axes
A

x 3R z o1&l BT g T F g

To maintain orthogonality between the arms and the rod
B

e 3R s & g sifuTi=RE 9 @ & fre

To measure the inclination between the y axis and the x-z plane
C

Yy NHGﬁTx-zaﬁ%mwﬁﬂTﬁ*m

To align the central rod with the inner socket wall
D

S I8 B AARP Alve (AR & Ay WWA B & g
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 43 Which planes are used to describe the motion of each part in the simplified movement system?

2749052
Wellgpd Geer Yoeh § Ules UITT o) T 1 ol R & R b aelt b1 ST faba St @2
Sagittal, coronal, and transverse planes
A
U1 & [UH, BRI 3R STIRY aaf
Horizontal, vertical, and oblique planes
B
e, St ok faver aa
Frontal, lateral, and diagonal planes
C

qare, uiy 3R fawuf aa

D Principal, orthogonal, and spherical planes
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iR, sifdfi=a ok MareR aa
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 44 What type of coordinate system is used to define the arm motions more precisely?

2749053

STl F et 1 oifie wdte FU A R F & g 5w ueR @) g g 1 IuaT far ST 32

Cartesian coordinate system
A

PR 97 Yoret

Cylindrical coordinate system
B

AP FHTT YOTTeRt

Polar coordinate system
C

ydta TH=ag et

Spherical coordinate system
D

MATHR THGY YOIt

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 45 What can the common flexion control motion of both the above-and below-elbow amputees provide to prosthetic operation?
2749054

FWR IR AA-BIgR & T S BT T Fera Fg07 1 Trdfeds STRRA & T o1 UeH #R Tehdl 92

Increased strength

A
e & ofs
Enhanced stability
B
a1 g% R
Improved dexterity
C
Frgurar ¥ guR
Marked gracefulness
D

fafea s
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 46 What is the main consideration for the prescription team when choosing a cuff and hinge combination?
2749061

$ IR &S F TGS BT 797 Bia Ig e dm & fow go7 faar @ 2

Flexibility and range of motion

A

wftemo o T 3 W

Cosmetic appearance
B

Frafes SurRafer

Maximum stability with minimum harness
(o

ATH GeT & 1Y Sifran fRuRar

GET IT ON

Google Play
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Individual requirements and personal preferences

HfRAT STaEHATY SR AfRrTa rafedng
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 47 Which bony feature can improve suspension after wrist disarticulation?

2749062
FarE B [(efd F g $H- 5Z H IYAvar T F YR B Thd! 82
Radial styloid process
A
e wrgargs ufea
Prosthetic flare
B
MRS W
Rasped bone surface
C
73 A waE B AR
Resected bone
D

e g T

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 48 Which suspension strategy requires a smooth skin surface free of invaginations or depressed scars?
2749063

fra Fde oM & o o Rt @1 &) Tde B Sazadhal gidl & S SMHuT a1 I =i I gad gt 82

Self-suspended sockets

A
a-fefaa wive
Suction sockets
B
HERM Hibe
Harness-based suspensions
Cc
FHE-SUTRT =
Simple socket
D

TIYRO Wihe

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 49 Which type of prosthetics make use of cables, pulleys, and hooks to increase functionality?
2749064

PR Sgi & iU frd UeR & TR Had, Yot 3R §F $T SUINT I 82

Passive prosthetics

fafsra Wefeay

Body-powered prosthetics

TR Hafera MeAfew

C Externally powered prosthetics

GET IT ON

Google Play
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qEd U A Furie N

Active prosthetics

afeha MRAfewd

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 50 Which type of prosthetics are initiated by a patient's own muscles and detect electromyographic (EMG) signals?
2749065

It BT St AR R 5 UPR F IRICH T T 91 § IR Seemihe (STAST) Wdhdl BT Al @ 82
Externally powered prosthetics
A
e w0 | HaIfer viedfeaw
Passive prosthetics
B
Fifera nefes
Body-powered prosthetics
C
TRR "afera viedfes
Internally powered prosthetics
D

Safe U | Haferd MeAfew
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 51 Which device is specifically designed for people with partial hand amputations?

2749075
PIH-97 IUHRTT IR FU Y i gl fasde aret a3 fore fewme foan mam &2
Taska Hand
A
TERT 1Y
Bebionic
B
derfs
i-limb
C
i -3
i-Digits ® Quantum
D

i —Digits ® FlcH
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 52 Which material is commonly used to make cosmetic gloves for powered terminal devices for children?
2749076

Tl % forw Gaiferd <fifa Susul & fRiw Brefed T s & 1T MR W fbw Il &1 SudnT fpar S 82

Polyvinylchloride (PVC)

ureitfargaaaRTss (didk)

B Silicone

GET IT ON
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fforera
Latex
C
L
Nylon
D
BIRCIE]

Correct Ans : A
Subject : Prosthetic Orthopedic

Q.No: 53 What is the preferred level of amputation due to better rehabilitation and functional outcomes?
2749077

YER gAY iR Hrafers gt & SR fIwye &1 qdidier TR o 82

Below-knee amputation (BKA)

A
¥e & - e (fi9y)
Above-knee amputation (AKA)
B
FwR-ger R (1)
Transtibial amputation
C
TR fasdea
Major amputation
D

g fasde

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 54 When may relatively urgent below-knee amputation (BKAs) be performed?

2749078
SUTFT THTA A19-Ye $T e (Sibv) Fa fHar o1 Tl 82
In cases of full-thickness burns
A
Ui HieTs & Fed & Al §
In non-septic populations with venous stasis ulceration
B
RRIR® 3519 = & A1y R-AR srardt &
When limb salvage has failed to preserve a mangled lower extremity
C
WE 37T PR & s SR $ W[ s § e w1 8
In cases of chronic nonhealing ulcers
D

| AT TF T WA IS SRR S A §

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 55 What is the most significant contraindication to performing a non-urgent below-knee amputation (BKA)?
2749079

TP TR-SE ged & A9 fawe (Siby) B & T 9a8 meayul f[Audia Gebd 91 82

Acute major organ failure

e v 3T fawaan

B Uncontrolled, spreading necrotizing infection
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iy, e gon ptersRiT wamwor

Vascular insufficiency at the planned amputation site
(o

Fraifoa e = W Hagt sroatwar

Acute hemorrhage
D

ot YeaEa
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 56 Which syndrome is NOT associated congenital disorder with longitudinal deficiencies?

2749088
sr3eel Sl & Ty B 1 Rigw s iR 4 qe1 7 82
Adams-Oliver syndrome
A
TEH- SR Righa
Holt-Oram syndrome
B
giee-3iRw Righ
TAR syndrome
C
dreem Rigw
VACTERL syndrome
D

VACTERL g

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 57 What is the most common cause of transverse deficiencies?

2749089
SR HTRGT BT Y 3T RO T 82
Adams-Oliver syndrome
A
- SiiferaR Rig
Amniotic bands
B
wafrifes 3
Chromosomal abnormalities
C
BIEA SRATHFAT
Bifid bones
D
faftrs sfyai

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 58 Which type of deficiency involves the absence of all elements beyond a certain level, resembling an amputation stump?
2749090

59 ghR & FH § U P TR ¥ R Wit ddf B sruiufy wita B, ue e wu S femar 22

Longitudinal deficiency

e wRt
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Hypoplastic deficiency

B
gIRUIERe® P FHt
Bifid deficiency
C
faftrs ot 3+t
Transverse deficiency
D

IR T
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 59 Why is it important for the physiotherapist and prosthetist to work closely together?
2749357

frfmiRfRe ok TRt & for fadex 3™ w1 ot wewayul 82

To ensure proper rehabilitation phase

A
IR gafg o g w39 & R
To save time during treatment
B
TR & R 9§99 & g
To reduce patient's discomfort
C
It Bt R B FH A F
To minimize costs for the patient
D

Ift & Rrg are 9 F F g
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 60 What knowledge should a physiotherapist have regarding the prosthesis?
2749358

fpforeRite o MR & IR # 1 SbRI g =1few?

Technical aspects of the prosthesis

A
HAT ST & dH-DBt Ug,
Manufacturing process of the prosthesis
B
P 3T it fFrfor ufewar
Materials used in the prosthesis
C
FW o # Wy |t
Function of different prosthetic components
D

fafirm W Tew! &1 o 1d
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 61 What is the purpose of understanding proper prosthetic fit and alignment for the physiotherapist?
2749359

rfomRfe & fou Ifa nRifes fhe ik WEU & g &1 ST T 72

A To evaluate the patient's overall progress
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At F TEw W BT gegin s F Rw
To assess the patient's pain level
B
IWft F & & TR BT P FIA & g
To identify causes of gait deviation and pain
C
e fame ok & & RN Bt ugaH F F g
To ensure the longevity of the prosthesis
D

PR 3 Ft wdt 37 GrifdE B F R
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 62 What is the benefit of using Pelite liners in the first socket fitting?
2749366

Tgd Hidhe BT H Uege Al BT IUANT B BT N AH § ?

They eliminate the need for any adjustments to the socket

A
q Hidve & frelt o wHRISH 3 ATl B GHIE R §
They provide a more comfortable fit for the patient
B
3 M & g e sRTETa® fihe W ovd §
They allow for easy fabrication of a brand new socket
C
Y Wide F FHmtor H) s e €
They help reduce the volume of the residual limb
D

q SafIp 3 B W F FH FIA H U IRA &
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 63  Which of the following materials is commonly used for residual limb liners in prosthetics?
2749367

TRARTT & Safiy o1 ARl & Y midR W FafafEd # ¥ SiH-3 anrft &1 SuanT faar S 32

Cotton
A
U
Polyester
B
RIS
Silicone gel
Cc
fafereta s
Latex
D
e

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 64 What type of socket design is advantageous for a dysvascular transfemoral amputee?
2749368

UIRG R TAHART 3T F AT {59 YbR &1 Wibe f3oe Brodwe § 2
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Foam liner with specific/patellar tendon weight bearing (PTB)

A
fafkrg/ e HoeT UR g8 (fidleh) & w1y B AR
Silicone gel liner with total surface weight-bearing (TSWB)
B
A Tqg I9 3R (AHssdl) & 1y Rl S agR
Foam liner with vacuum-based suspension
C
Aagw nuTid Fded ¥ 1Y B agR
Silicone gel liner with foam weight-bearing
D

B goF 3R & 1Y Rfreia oa agR
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 65 What is the primary function of microprocessor-controlled knees in prosthetics?
2749369

MR § ArEwHawR Fafid gent &1 mufe & @ 2

To provide enhanced stability during walking

A
T F IR I5R FRRET v B F Rig
To increase the range of motion in the knee joint
B
ged ¥ o A 7fa &t Wi 9em ¥ g
To store thousands of gait algorithms for customization
C
IJpa P RIT ToRI Ut THNGH BI LR 31 & g
To control hydraulic resistance based on user's movement
D

TaT F YR W eI ufRiy &) fFrifya a1 & fag

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 66 What is the possible cause for lack of anterior support during gait?
2749380

e & SR gdeTa TudE 31 HHt BT GUIfad SR R 82

Excessive posterior displacement of the socket over the foot

A
R F SR Aibe F1 AAfs vy RFwm=
Excessive anterior displacement of the socket over the foot
B
R F FW Alde BT IS qdora faumT
Excessive dorsiflexion of the foot
C
W 1 e NS ge=n
Excessive plantar flexion of the foot
D

R P1 IAP Wi TR

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 67 What is the muscle action of the knee during initial swing?
2749381
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o R B AR e o AR ) fen A &

Eccentric extensors

A
SF= fwrRe
Concentric extensors
B
el fawe
Eccentric flexors
(o
Ih= W
Concentric flexors
D

el wiwTE
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 68 What is the effect of excessive anterior support during the stance phase of gait?

2749382
A F TG WU SR IS GdbTer THT BT GUTT R 82
The amputee feels like he is walking uphill
A
ST R B AT T § 95 HW P o} 7w ve1 B
The amputee feels like he is being thrown forward
B
U T Y T AT B P IR 3 B 1 ¥ET B
The amputee feels like he is being forced backward
C
ST ATH H THT T ] I Taeredt W e o1 ¥eT B
The amputee feels like he is being thrown to the side
D

ST SAfRT B T T § 6 I/ U 3R BT o W61 §
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 69 What is the effect of a narrow or high anterior rim of the socket that restricts lateral movement of the patella?

2749383
Widpe & TH YHI0 a1 I YdbT A BT 1 FHIT Sl & S g & uref SHere P Wisifid Far 82
The patella is forced downward
A
wear A F 3R AR §
The patella is forced upward
B
TRAT FW BT 3R AR 7
The patella is forced to the side
C
qedr & fFIR v & g wereR fvan wrar @
The patella is forced backward
D

year N # 3R udpar wrar @

Correct Ans : B

Subject : Prosthetic Orthopedic
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Q.No: 70 What is the main challenge in designing sockets for Hemipelvectomy amputees?

2749393
BRI s & fr Wiee fREweT F¥ § g A @ 82
Transferring weight-bearing loads directly to existing bony structure
A
IO Tg B A UR H1 W Hisier d- TR & RFaid Ser
Using the ischial tuberosity on the unaffected side to support body weight
B
TRR & qu &1 T FA F R sutfaa uer W sREa sgeRifid ST U ST
Extending the socket so that the rib cage can absorb most of the weight-bearing forces
C
Wibe o1 AR se aife Ra iR aom-3@R arat it ot o saxifia a3 9%
Providing sufficient heat dissipation
D

i T duedr wer A
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 71 What is the purpose of radial suction grooves in laminating a socket?

2749394

The B AT TR B AT TaRA Io7 $T 77 I 82

To cut cylindrical holes in the workpiece
A

THEY & e 58 B Brea ¥ e

To clear helical flutes along the length of the twist drill
B

fove 3@ 9t daré F 1Y IaER I 1 9F T F g

To ensure the evacuation of air from undercuts
C

SisT@ed W g1 ot et YFfia o= & g

To blend the edges of the foam into the contours of the socket
D

T ¥ fFRI 3t Sive & wH A e ¥ R
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 72 What is the main suspension mechanism of a prosthetic socket for hip disarticulation and hemipelvectomy amputees?

2749395
fRu fewenféageem ok fteaerd tie & o Tidfes Oike &1 e fca o 1 72
Padding or cushioning
A
g o pf
Soft rubber tubing or a similar shaping device
B
Y IR YA GT U A THR A AT SUB0
Locking in tightly above the iliac crests
C
SRMAT® F¥e F HWR FEPT 4§ BT
Relief for the inferior pubic ramus and pubic tubercle
D

FHINTR faw Y09 3R Ufiw cgarea & g JEa

Correct Ans : C

Subject : Prosthetic Orthopedic
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Q.No: 73 What is the main advantage of fluid-controlled knee mechanisms over mechanical friction devices?

2749423
i3 Tfor IUSRON W ga-FHRd g dF $T g Oy R 82
They provide greater resistance to swing at low velocities
A
39 AT R A F R o TRy ver ova &
They offer less resistance to swing at low velocities
B
AP AT W FgaT P RIY 9 7R va B3 §
They allow for excessive heel rise at the end of the flexion and extension ranges
C
T IR TFERTH ¥ F A F rafie ¢St IoA #Y orgwiy W E
They have lower minimum resistances than conventional knees
D

TRURS Yl B gaT A STPT FAaW URRIY S grT &
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 74 What is the relationship between velocity and resistance in fluid-controlled knee mechanisms?

2749424

ga-Ffd gea & & 3 SR ufekiy & ot @ Tay 22

If velocity is doubled, resistance decreases one time
A

Ty 37 gy ) T Wi, @ 9RRYY T AT B9 g ot @

If velocity is doubled, resistance increases three times
B

e a1 R R Rar wiTe Y whaRYe & AT 9 S @

If velocity is doubled, resistance decreases two times
C

e &7 IR R Faar Wi, wfoRY &) A1 S g SfaT §

If velocity is doubled, resistance increases four times
D

Tf A7 ST 7 T WY |t wieRlY IR AT 9¢ wrar @
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 75 What are the two mechanisms that contribute to the lack of true free knee motion in hydraulic knee mechanisms?

2749425
BRI Yo o & Ut gad ged F A B i F divrgE 27 a1t & o 82
Friction of the mechanical elements and fluid friction
A
Tifye at ok 59 wfor 31 oy
Friction between solid surfaces and viscosity of the fluid
B
3 gl & dig wior ok w9 it Rufuee
Resistance to flow and viscosity of the fluid
c
%9 & yarg 3R Rufrge &1 ufeRiy
Friction of the mechanical elements and resistance to flow
D

Tifye® el 1 avor 3R vaTE $1 ufRiy
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Correct Ans : A
Subject : Prosthetic Orthopedic

Q.No: 76 Which part of the nail is responsible for its growth?

2749432
ARG BT -9 U 0T I F Rore Ierard S @ 2
Germinal matrix
A
it A
Sterile matrix
B
w e
Proximal nail fold
C
THIRY ARG Bt T
Dorsal roof
D
s oa

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 77 Which material is chiefly used in the construction of the W type finger splint?
2749433

Ty TRy AR fRefe & Fmfo & gor v 3 few aneht &1 Suant fan S 82

Fishing line

A
o UHSH P @
Rubber band
B
IR s
Piano wire
C
o=t A
Vinyl tube
D
fmrga @

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 78 Where should the small vinyl tubes be placed in the S type orthosis?
2749434

T USR & I & Bie f315a &l & wel @M ST a1gu?

Palmar side of each finger

A
TP I BT URR &
Volar side of each finger
B
TP It F drer uat
Dorsal side of each finger
(o

TP Il F g var

D Along the wrist joint
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FAE F S F WY
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 79 Where should the wire holder be set when using the W type orthosis for median nerve palsy at the wrist level?

2749435
FHAE F WR W WS 79 el F U Sy o=y SRR o7 ITT HRd T0Y IRR FieeR B gl e fpar ST =fge?
Dorsal side on the wrist joint
A
DA & SiIg W ggi va
Ulnar side on the wrist joint
B
FAE F NS W ITAR F WE
Palm side on the wrist joint
C
FATE & WIg W g B RE
Proximal phalanx of the thumb
D

IS & wHiTR g
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 80 Why is a resting splint recommended at night?

2749446
7 F I Refe iRt i @t ot 82
To minimize the risk of contracture of the PIP joint flexion.
A
from$h Wga W & Y F S T HH FA S R
To immobilize the hand during sleep.
B
i ¥ IR g1Y RR 7 F R
To promote periosteal callus formation.
C
YefReaa Few T HY Ferar & F R
To relax the intrinsic tendons.
D

SRS BUST BT AR FA F Q|

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 81 What is the purpose of flexing the metacarpophalangeal (MCP) joint in the resting splint?

2749447
& Rt & Aerpiitheifige (MCP) Ygad &) Tolad B BT SE20 &1 82
To immobilize the MCP joint.
A
TRl g P RR # & Rl
To stimulate periosteal callus formation.
B
FaiifRaa Fow 7o F v F1 & gl
To relax the intrinsic tendons.
C

3HTafkes FUSH I SR HA & gl
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To compress the fracture and promote digital motion.

PR B WhfET s iR f¥fea afa 1 ggrar 3 F frg

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 82
2749448

What is the main feature of spring splints?

i e @t g fdivar a2

They rely on three-point pressure and spring-action forces.

3 F9-fig qama ok fBAT-TRM Faf W 4R F7Q Tl

They are fabricated using low-temperature thermoplastics.

3 S AUHME T YA S BT SUGNT S T T &

They provide constant force application to immobilize joints.

3 st B FRR 78 F g FRar 9@ smdes wem ava 81

They are commonly used for acute injuries.

q AR TR fig el F R SwahT e o 7

Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 83
2749449

What is a key advantage of contoured splints?

Ture ufgal o1 T a1 a4 82

Ease of fabrication with high-temperature materials.

I= a1 ATt & ary fAafor § st

Direct fitting on patients using low-temperature materials.

B AIH aTel AR ST STET B ara At w yer fsfe

Increased rigidity for optimal support and stability.

gyan wudA SR fRRar & e 7 g weRan

Specialist involvement of orthotists in their fabrication.

I% fufor F sififewe &t fagiug wrfierdt

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 84
2749459

What is the LUKE Arm?

qF o T 32

An advanced robotic limb

TP IAd Aalied [T

A type of hybrid prosthesis

TP UPR T GBI AT [T

A myoelectric upper-limb prosthesis
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TP g S T FhE I

A research project on prosthetic development

H e R uw My gRbiSET
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 85 What is the primary control mechanism of the LUKE Arm?
2749460

g M BT Urdfies e o @ g2

Electromyographic electrodes
A

SRS S FaTcS

Switches and movement sensors
B

g ok Haa dW

Force sensors
C

fd SR

Inertial measurement sensors
D

TSy WY FW
Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 86 How many arches support the foot's architectural vault?
2749461

o MW |R F WU oo &1 0T ava 82

One
A

ki

Two
B

@

Three
(o

&=

Four
D

TR

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 87 Which two bones make up the back part of the foot?
2749472

F f 3 53l R & fod W & arh 82
Talus and metatarsals
A
AT 3R AeTeria
Calcaneus and phalanges
B

Fabgd iR BrawH
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Talus and calcaneus

T SR Fehd

Navicular and cuboid

fd® SR TIH

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 88 Which joint connects the talus and the calcaneus?
2749473

HI-H1 SIS q SR Feh Y ST 32
Ankle joint
A
T@ BT g
Subtalar joint
B
W WIS
Metatarsophalangeal joint
C
AR Wi
Interphalangeal joint
D

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 89 Which artery is the main blood supply to the foot?
2749474

R ! go7 Tad B g by ur A St B2
Dorsalis pedis artery
A
g Afw wmh
Posterior tibial artery
B
Ty fefeaa wwit
Anterior tibial artery
C
ydora fefeaa uwit
Popliteal artery
D

Uyeftea aa=it

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 90 The plantar plate is located under which structure?
2749481

WieR We g Wa1 & Sidvid fRa g ?

Proximal phalanx

TR IE

B Metatarsal head
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Tereria RR
Navicular bone
c
RUCER
Cuboid bone
D
TR I

Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 91 1In order to achieve a three-point pressure pattern on the sole of the foot, what may the orthotist need to use for most orthopedic patients?
2749482

R F T R AH-fig gama T ura w3 & o, stz srififse AR & fg sififere &) o IuanT a7 3 sfraxgewmar 81 gabdl 82

Shoe modifications

A
AT "R
Custom orthotics
B
FeeH T
Surgical intervention
C
wffea gwaay
Physical therapy
D

Wifee R
Correct Ans : A

Subject : Prosthetic Orthopedic

Q.No: 92 How much should the distal end of the insole extend beyond the tip of the hallux for foot elongation during ambulation?

2749483
TG F SR R Jg1d F o gTaad & A% ¥ W 4u § @A & 6% BT 3 a1 g1 a1few?
1/8 inch
A
1/8%4
1/4 inch
B
1/4%9
3/8 inch
C
3/8%4
5/8 inch
D
5/8 %9

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 93 What is the unique feature of a convalescent or surgical shoe?
2749484

RITG B aTet A1 Wiihdt S B 33T faierr r 82

Lacing to the ankle

T ¥ fog wiar
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Slip-on design with no laces

B

fomm & & Rau-oif fewmg=

Velcro strap closure
C

e UgI WG

Lacing to the toes with a toecap extension
D

IHT TERH & WY R F IRt ) a9 Hn

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 94 Which of the following is NOT one of the main steps involved in the process of orthosis development?

2749495
Froafifed & S5 w1 iR e @t ufsar § e ger o § 9 U 1 82
Assessment
A
3Th e
Design and manufacture
B
Tz i frrmfor
Fitting and evaluation
C
fpfem 3R geaid
Prescription and medication
D

8o 3R gar

Correct Ans : D

Subject : Prosthetic Orthopedic

Q.No: 95 What distinguishes prescription orthotics from shop-bought insoles?
2749496

o & sfffifead & gHH A W T FAEIG § FT ST HRAT 87

Prescription orthotics are made from softer materials.

A
e sifdffewt == amht & 99 g9 &1
Shop-bought insoles provide better arch support.
B
P A T Y T e o W war B F
Prescription orthotics are measured and made to fit your feet exactly.
Cc
ftrem sifdifeewy &) arar wmar @ ¢k omud IRY &1 fyvpa fibe F1 & forg a=man wmar 81
Shop-bought insoles are less expensive.
D

P ¥ WS T N FH @HQA F T

Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 96 How long might it take for athletes to feel confident running or competing again after getting new orthotics?
2749497

T B AU iy U FA & a1 fhR T i a1 vforuel A B SeAfauT Teg™ A | a1 99y o Teh 92
A 2-3 days
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2-3f

1-2 weeks

1-2 9WTE

1-2 months

1-2 7R

3-6 months

3-6 HEA
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 97 What is the recommended correction for the error of abducting the foot by holding the leg at the ankle or above?

2749498
TEA T SHW R B UHSHR R BT 3FTAT B Bi JfS & o1y SHRIRIT FuR 1 872
Applying pressure on the fibula
A
qiesifIeT W gara an] ST
Keeping the thumb on the head of the talus
B
BT arg & R W= 3@
Rotating the ankle joint forcefully
C
@A & wiig FI quyde g
Using a different hand positioning technique
D

TP AT g1 USRI qb=td BT SUGNT BT
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 98 What is the role of a CPO expert in the fitting process of a knee orthosis?

2749508
T ¥ sififRr Y Rt ol & Wiel Ry #) F it 22
Dental evaluation
A
a e
Visual assessment
B
TG YedidT
Custom fitting the orthosis according to the patient's needs
Cc
Wit F el & AR SAITRM B Feed fibfen s
Performing surgical procedures
D

aifea wfrang s
Correct Ans : C

Subject : Prosthetic Orthopedic

Q.No: 99 What are the drawbacks associated with thermoplastic lower-extremity braces?
2749509

U TIeR-TEAIHE! S99 & ! il o1 82
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Limited durability and poor flexibility

A

Wit v ok TR adftar

Thin profile and limited footwear choices
B

yaeht MpTEa SR WG ga fiwe

High cost and lengthy fabrication process
C

I AT 3R it fotor wfssar

Thick profile and heat discomfort
D

T MiwTee ok T It wRR
Correct Ans : D
Subject : Prosthetic Orthopedic

Q.No: 100 What advantage does a dynamic-response AFO offer during the gait cycle?

2749510
T TH P GRM T TIA-URIHIT AFO FaT ATH UaH R 37
Increased patient strength
A
it e & gf
Enhanced endurance and distance covered
B
¢ TeIfad SR ag &t TS g
Improved balance and stability
C
YgaR Hge AR fRRar
Reduced exhaustion and fatigue
D

YPTAE 3R YT $ HH BT
Correct Ans : B

Subject : Prosthetic Orthopedic

Q.No: 101 Which one of the following connects animal cells?

2591814
Frafafed & 3 & oy SR S Sied 82
Desmosomes
A
ST
Cell wall
B
PR ffer
Plasmodesmata
C
wgEHTeT
Plasma membrane
D

T f3redt

Correct Ans : A

Subject : Staff Nurse

Q.No: 102 Which of the following tissues has the greatest capacity for regeneration?
2591815
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Fofifd & ¥ 59 Sae & g @) Jaife e gkl 82

Epithelial tissue

A
SURdTl SHdd
Connective tissue
B
Tl FHad
Muscular tissue
C
Ut FHaw
Neural tissue
D

et Hae
Correct Ans : A

Subject : Staff Nurse

Q.No: 103 Which among the following is correct regarding the number of bones in the skull?

2591816
TSt # i @ em F ey H Fufafea # 9 o @ @l 8
18
A
18
20
B
20
22
c
22
24
D
24

Correct Ans : C

Subject : Staff Nurse

Q.No: 104 Which of the following types of joints best describes the shoulder and hip joints?

2591817
Fofafed & 3§ 319 1 9is Y 3R Hog & SISl BT Y ST Jui- P 37
Pivot joint
A
fae sitg
Hinge joint
B
[EEIS
Ellipsoid joint
C
TReasis sig
Ball and socket joint
D

aa 3R Wide s
Correct Ans : D

Subject : Staff Nurse
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Q.No: 105 Which of the following group's joints allow for free movement between two or more specific heads of bone?
2591818

e & 3 fry o5 & WIS 531 & < T A 9 o ke RRY & e gaa 7fa 1 erAfd <3 @2

Diarthrosis

A
s
Tendons and Tibia
B
Fe v fRefdmr
Synarthroses
c
IR
Ligaments and Femur
D

fermie ok Wi
Correct Ans : A

Subject : Staff Nurse

Q.No: 106 Which of the following has the falx cerebri, which develops from the durometer?
2591819

Frafafea 7 9 fas wrea Al 8, o SRR A fawRid gidl 82

Brain and spinal cord

A
afer ok iz 3 gt
Cerebellar hemispheres
B
AT T
Cerebral hemispheres
C
yafRrss Menef
Subdural and epidural space
D

HasgRa 3R TegRa |
Correct Ans : C
Subject : Staff Nurse

Q.No: 107 Which among the following guards against infection in the body?

2591820
fraffed § 9 H-a1 IRR & Gopmor § @ 32
Red blood cells
A
T T PIIDBT
White blood cells
B
A7 3 ST
Blood plasma
C
X WITGHT
Platelets
D
wedeH

Correct Ans : B

Subject : Staff Nurse
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Q.No: 108 Gaseous exchange occurs in which part of the respiratory system?

2591821

497 7 & e wrT & iefr fafea g 32

Alveoli
A

wfRrmardt

Pharynx
B

L

Larynx
C

T

Trachea
D

Yol

Correct Ans : A

Subject : Staff Nurse

Q.No: 109 Which of the following is the central compartment of the thoracic cavity and is located between two pleural sacs?
2591822

e & 3 B qe g1 31 Heita Hdde B 3R < pupd Ach (URR® T F T Rid 32

Thoracic cage

A
4R fieR
Hilum
B
et
Pleura
C
T
Mediastinum
D

TSt
Correct Ans : D

Subject : Staff Nurse

Q.No: 110 Which of the following is not a component of the human respiratory system?

2591823
Fraffed & 9 S-91 7 497 73 T 6 9P Tl 87
Trachea
A
CIGER
Diaphragm
B
SHNPH
Lungs
C
Ly
Kidney
D

Tl
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Correct Ans : D
Subject : Staff Nurse

Q.No: 111 Which among the following gas is released during the respiration process?
2591824

o yfehan & SR FafifEd § ¥ B9 W T Fead 82

Oxygen
A
SffeiterT
Hydrogen
B
GESLER]
Carbon dioxide
C
PIE STFAHTFIAES
Carbon monoxide
D

P HAHTFIES
Correct Ans : C

Subject : Staff Nurse

Q.No: 112 How many alveoli are thought to be present in the human lungs as a whole?
2591825

TS R S TU T AT Bhsl H fbe wleieh Heg 7 o 87

1 billion
A

1 3R9

800 million
B

800 fafa=

500 million
C

500 faferaT

1500 million
D

1500 fafer

Correct Ans : C

Subject : Staff Nurse

Q.No: 113 Which of the following is not an insulin-related function?
2591826

i@ § 3 SH-91 SRR | Jeiftid a1 81 82

Decreasing glycogenolysis

A
TATSHINANARIT Bt FH HIAT
Lipogenesis

B
fRraeARm
Gluconeogenesis

C

ESCIIRRIEEIR T

D Glycogenesis
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A H A

Correct Ans : D

Subject : Staff Nurse

Q.No: 114 Which among the following does not belong in the human female reproductive system?
2591827

Fofifaa & ¥ FH-11 A AT yoHE yome § i 8 82

Ovary
A
e
Uterus
B
wHiTm
Vas deferens
(o}
I ST
Fallopian tube
D

Tl eE
Correct Ans : C

Subject : Staff Nurse

Q.No: 115 Which among the following hormones stimulates pancreatic juice and bicarbonate production?
2591828

Frafifaa & § S w1 g spmrll 9 3R TEEEiT IdTE B I BT 82

Insulin and glucagon

A
G SR @
Cholecystokinin and secretin
B
FIAAEIBE 3R ApfeT
Gastrin and insulin
C
AR e SR
Angiotensin and epinephrine
D

TRERRM ok ThRRw
Correct Ans : B

Subject : Staff Nurse

Q.No: 116 What is the name of the thing that gives nourishment necessary for the growth and maintenance of life?
2591829

g @Y S SR IW-3@1a & U sravyes divr 37 areft a%g &1 @ A 82

Balanced diet

A
FrafeRST
Nutrient
B
qiye 9
Calorie
C

Fardt (R
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Myplate

Correct Ans : B

Subject : Staff Nurse

Q.No: 117 Which of the following chemicals is an essential component of "bleach," a household cleaner that kills bacteria, fungi, and viruses?
2591844

i & ¥ $ 1 WE "=l &1 U6 Ma%aE Teh €, U TR R off ST, Hadh 3R IIERY Bl ARl 87

Sodium chloride

A
wHf$aw wikgs
Ethylene oxide
B
TRt sifeTes
Sodium hypochlorite
C
wf$aw grEuieRTe
Ethyl alcohol
D

YR PRI

Correct Ans : C

Subject : Staff Nurse

Q.No: 118 Which of the following areas has the lowest chance to generate biomedical waste?

2591845
frofafed & 3 frg &7 & 9 fafen sl Iod F=7 3t YU 98 FH 82
Hospitals
A
Sdre
Clinics
B
feafre
Laboratories
C
waRTRITeait
Agricultural lands
D

P

Correct Ans : D
Subject : Staff Nurse

Q.No: 119 When does the most antibiotic production occur in Penicillium chrysogenum?

2591846
ARiRrT SRS ¥ gaifie (emies Ik oo g 32
The second phase
A
GHRT TROT
The third phase
B

w1 TR

C First phase
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Y °ROT

First, Second and Third Phase

g, GERT SR FIwRT ROr
Correct Ans : A

Subject : Staff Nurse

Q.No: 120 Which of the following processing techniques involves quickly heating food to a high temperature to lower the risk of food poisoning?
2591847

fofafad o ¥ g TR da-ie # W [AuTeddr & SifeH &1 &H B4 & oY HivH &1 3= dTIHH W Sieal I TH AT A 32

Blanching
A
-
Ohmic Heating
B
3y ara
Irradiation
C
fpvoftaa
Pasteurization
D

TR

Correct Ans : D
Subject : Staff Nurse

Q.No: 121 What medical conditions are treated with phototherapy?

2591848
wRRd ¥ o5 fafecita Ruftdt @1 sars fovan s 32
Cyanosis
A
qrEAIRE (Fiferm)
Eczema
B
et
Diarrhoea
C
srafear
Jaundice
D
fiferar

Correct Ans : D
Subject : Staff Nurse

Q.No: 122 1In which of the following cities did a waste removal system first emerge?

2591849
Frafafed & 3 g wex § &Rl geH @1 yurel Il ugd S?
Athens
A
Lok
Lahore
B

R
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Paris
c
Ll
London
D
e

Correct Ans : A
Subject : Staff Nurse

Q.No: 123 Immunosuppressants such as which of the following prevent transplanted organs from being rejected by recipients?
2591850

TR S Fufied § § $F ufoRiftd st @ uraesatelt gRT sRdieR fFT oM & A 2

Thrombin
A
AR
Cyclosporine
B
SN
Aspirin
C
iR
Sodium benzoate
D

wifsa defige
Correct Ans : B

Subject : Staff Nurse

Q.No: 124 Which of the following glands is the largest in children but shrinks and is replaced by fat as puberty approaches?
2591851

Frofafea # 3 SF-3 1Y s & 9e 991 8Kl § Qfed A & e 3 W Rigps It @ o @ gy wfarafid 8 it 82

Thymus
A

YTHE

Hypothalamus
B

REERELE]

Parathyroid gland
C

RruTRiss Uy

Pituitary gland
D

vy ufy
Correct Ans : A

Subject : Staff Nurse

Q.No: 125 Both B and T lymphocytes are created in the bone marrow, but only the T lymphocytes move to and mature in which of the following places?
2591852

W 3R & I RrpraTgey SRy AT & &d €, Afbe daw ) RipigEey Pk & @ 5y =M R o1 8 3R uRus 8 82

Spleen

et

B Thymus
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AT

Pituitary gland
c

iy 4fy

Adrenal gland
D

ufga oty
Correct Ans : B

Subject : Staff Nurse

Q.No: 126 As a certified vocational nurse, you notice that the patient who is scheduled for surgery does not comprehend the doctor's earlier explanation of the procedure. The client appe
2591853 (gncerned and is asking numerous questions about the risks. Which of the following would be the best course of action for you?

T YOI ST T & =0 H, 37 37d ¢ fb goit & forg ik Wt siacr 3t wftear & ueet & Wtarur &) et TH=rar 81 Wew Rifdd uchid gia1 & ok i & IR # 38 Uy g w81
3P R T 3T B 1 ghre

Give the patient a brief explanation of the surgery's procedures and risks

A
Aeht Yt ol o5t wfsrarait ofik SR @1 Wi faawor §
Stop the operation
B
ST §g DY
To learn more about the surgery process and its risks, ask your supervising RN
Cc
|l wfthar ok 5 SR & IR # siftres SR & R, orvm widemr oRe= & &
Inform the doctor
D

ldeR &I ghd B
Correct Ans : D
Subject : Staff Nurse

Q.No: 127 Which of the following factors should an LVN/LPN consider when deciding whether to purchase personal professional liability insurance when employed by a healthcare organis
2591854 professional liability insurance?

UAR T 17T & 1Y WY JaT W6 gRT AR 89 R fdaia IR ol ST TRie o1 (0ig dd I TaeiTA(LVN)/TadigA(LPN) @1 Fafiiad § § i Re! R f3uR &1 Tfeu?

The possibility that the organisation will sue the nurse in retaliation.

A
TuTaT ¢ 6 e wfasity & 7 W gwed Hvm
The nurse's professional liability insurance premium
B
T #Y IR e ot wiem
The amount and type of coverage provided by the health-care organisation
C
WY TGHTA WIS GRT TG Bt ST aTelt Haver ot AR R TSR
The number of hours worked as well as the nature of the nursing work.
D

FTH & Uel Bt W= & WY-Ary ARFT w1 A g oft

Correct Ans : A

Subject : Staff Nurse

Q.No: 128 Which of the following must the nurse keep in mind when entering notes for a client during and after the shift?
2591855

R & GRE SR a1E H FaEe & oM Tew aol wrd I7g T4 $ Fafaed & 3 o o= & @ afke?

A To ensure that all assigned clients receive care, charting must be as brief as possible.
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Tz ghfia o1 ¥ fore i @t Afdy ares! & Saure wra &, aiféT guriva dfée @9 aifgwl

The hospital's preferred format, such as SOAP or PIE, must be followed.

B
SRUAT & WRIdIET YR, IF SOAP T PIE &1 U {1 W =nfgwl
If a nurse is called to court, the chart may be the only evidence she has to support the care she provided.
C
Tfe v T B srgraa ¥ gaTar AT 7, & 91 € THAT Tgd 8 Thdl § St IHP gRT U B TS S@UT BT TS FHear g1
At least once an hour during the shift, clients must be assessed and their care documented.
D

Rve & R 4 § U ¥ BH TS IR, UTEH! ST Yeuic [Ba1 91 A1y 3R S9! T@UTH BT SXATASHBRYT {1 S Ayl

Correct Ans : C

Subject : Staff Nurse

Q.No: 129 Which of the following terms describes how the human resources department monitors the effectiveness of the line and other staff departments?
2591856

fufifad & § HF 91 Weg I IRT § [ AT TareE AU A SR 3R Wt fGURT @t yuiaRiiedr &1 FIRE $9 SRar 82

Assessing
A

STh e

Appraising
B

i HIAT

Auditing
C

SfB&IOT

Checking
D

AfF

Correct Ans : C
Subject : Staff Nurse

Q.No: 130 As the world implies, which of the following represents the rate of change in the number of employees?

2591857
St o gfven &1 At &, Frofafed & 3 o sl o1 den  uRadT $t & S i 82
Labour problems
A
4H BT wHET
Labour strike
B
oGl B FSaAT
Labour turnover
(o
4H PRIAR
Trade union
D

MR §9
Correct Ans : C

Subject : Staff Nurse

Q.No: 131 Which of the following is the systematic problem-solving approach to providing individualised nursing care?
2591858

Fafifad & ¥ $ i AR v ver B7 ¥ e el goen-garE e 82
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Nursing care plan

A
AR T e
Nursing process
B
R ufdean
Nurses practice act
C
= snarw sififam
Nursing method
D

R usfy
Correct Ans : B

Subject : Staff Nurse

Q.No: 132 Which of the following is not currently adding valuable written information to a health care record?
2591862

fofafed & 3 B9 adom ¥ wea Taud Rels § gear fifed ser) 78 siis @1 82

Recording
A

Repitén

Charting
B

afén

Data entry
(o}

STeT T

Documenting
D

RATdIIERo

Correct Ans : C

Subject : Staff Nurse

Q.No: 133 What is the name of the mode of transport of an infectious agent through the environment to a susceptible host?
2591874

JafaR0l & AT F T Hfaide-T=ie Ao & U U Yehme Tole & URas & diid &l 31 7 32

Carrier
A

qes

Reservoir
B

SRR

Vector
C

EE

Vehicle
D

qare

Correct Ans : D

Subject : Staff Nurse

Q.No: 134 When an insect or animal acts as an intermediary in a disease, it is referred to as which of the following?
2591875

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

9 PIE Pie I TR fbat SR & 7oy & w0 H B a1 8, O 39 Faffad § S o St o 92

Direct contact

A
W wudh
Indirect contact
B
YL HUH
Droplet transmission
C
g H@Rr
Vector-borne
D

ey S
Correct Ans : D

Subject : Staff Nurse

Q.No: 135 Which of the following diseases is spread through the oral-fecal route, sex, and water?
2591876

foffed & 3 BH-a1 A gE-Hea A, a9 3R art § Herar 22

Hepatitis-A
A

FleTsfed U

Hepatitis-B
B

Flersfes @

Hepatitis-C
C

Flegen @

Hepatitis-D
D

Flerfen &

Correct Ans : A

Subject : Staff Nurse

Q.No: 136 Which of the following factors is not associated with an increased risk of being overweight or obese?
2591877

Ffid # A B W SRS 31 o a1 Herd & Fgd Sied A TeT T8 82

Lack of sleep

A
i ot
Birth weight
B
S F qHG o
Dietary pattern
C
3MER e
Exhaustion
D
YPhrdc

Correct Ans : D

Subject : Staff Nurse
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Q.No: 137 Which among the following plants can be used to treat blood pressure?

2591878
fFrofafea # 3 fra Y &1 S e & g & R e o ge g2
Sarpagandha
A
wftuT
Babool
B
qq
Jamun
C
ST
Tulsi
D
et

Correct Ans : A

Subject : Staff Nurse

Q.No: 138 Which of the following factors is causing India's population explosion?

2591879
frofafed & § SF 91 $RS R &1 S fIThIe HT SR &7 6T 82
Climate
A
Srearg
Increased mortality rate
B
IR AR
Illiteracy
C
frerar
Area
D
a=

Correct Ans : C
Subject : Staff Nurse

Q.No: 139 What is the primary cause of the world's population explosion?

2591880
fay & SEE fawhie &1 THW HRU 3T 8?2
Excellent work environments
A
IPT BRI qTATaRT
Increased agricultural output
B
P IareT & 3f&
Excellent medical care
(o
Iy Rifhen Tgura
Fewer battles and wars
D

T GSTS R TS

Correct Ans : C

Subject : Staff Nurse
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Q.No: 140 The National Mental Health Policy of India was launched in which among the following years?

2591881
RT3 Tt AR W Ay Fefifed § @ e af 3 g 9 de
1982
A
1982
1983
B
1983
1984
c
1984
1992
D
1992

Correct Ans : A

Subject : Staff Nurse

Q.No: 141 Which of the following was the rural development program the Indian government launched in 1952?

2591882
YR WHR gRT 1952 & Y& e 71 iy sy srieps Fufiiad & & sia-a1 u1?
Integrated Rural Development Programme
A
THtpd I e sriwa
Community Development Programme
B
e e sriwd
High Yielding varieties Development Programme
C
Sifie Iuw A arelht vt R sriww
Intensive Agriculture District Programme
D

U pfy foren srfey
Correct Ans : B

Subject : Staff Nurse

Q.No: 142 Which incident led to the majority of countries launching family planning initiatives?

2591883
59 ge & HR RIS I A uRaR e 3 ugd TE B2
After World War 2
A
fFfu Ry ge S =
After the industrial revolution
B
ienfire wify & T
After the British invasion to India
C
WRA R fafesr smpwor & arq
After American independence
D

SRS T ¥ TG
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Correct Ans : A
Subject : Staff Nurse

Q.No: 143 Which of the following is the primary focus of family welfare programs?

2591884
frafafed # 3 S aRar Fem sriwA B e Bied 82
Couples in the fertile age
A
ToE 99 | S
Males after the fertile age
B
T4 ST & q1G R
Children under the age of 12
C
12 919 § 39 89 & a9
Women after the reproductive age
D

Y 31 & qTG Afgamg
Correct Ans : A

Subject : Staff Nurse

Q.No: 144 Which organisation serves as an administrative division for implementing the Family Welfare Program throughout the State's districts and is based at the State Capitol?

2591885
B T TS 9 F Gt Rrat & TRaR Heanor Srfed S an] B F AT T YRS UHRT & TU & B il § 3R Ie7 pived # R 32
The State Family Welfare Bureau
A
Y URAR HeTIT SR
The District Family Welfare Bureau
B
forar uf¥arR Hearor SR
The National Family Welfare Bureau
C
T URER ST SR
The International Family Welfare Bureau
D

SIRTER uRar Seamr SR
Correct Ans : A

Subject : Staff Nurse

Q.No: 145 What is the primary goal of the Family Welfare Program's Janani Suraksha Yojana program?

2591886
URAR el BRIGH ST TRET AT BRIHH P Wi T&d 31 82
Lowering neonatal and maternal mortality
A
I IR HIY TG &R B HH AT
To promote the use of safe sexual practices.
B
TR A gt &% ITURT B ggrar &
To give widowed women pensions.
C

faerar Afgamait ot U= &1

D To give homeless people shelter.
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TR AR BT ST ST
Correct Ans : A

Subject : Staff Nurse

Q.No: 146 Which of the following minerals is most commonly deficient in patients with goitre and an enlarged thyroid gland?
2591891

Har 9 93 U URRTas UMy & A F Fufafed ¥ § fra e ) gad ofte w Bkl 22

Iron
A

STRA

Iodine
B

A

Calcium
c

Hfaram

Phosphorus
D

PRERA

Correct Ans : B

Subject : Staff Nurse

Q.No: 147 Which of the following assessment findings in a leukaemia patient would suggest that cancer has spread to the brain?
2591904

it & i F ol § 3 9 1 sreeH e Farar 7 5 FR afens § e m g?

Headache and nausea

A
fRed afiv St forgemn
Tachycardia and agitation
B
TRPISAT SR AT
Anxious and hyper vigilant behaviour
c
fifoa oz sifer wadh srasR
Heart rate and blood pressure are both elevated
D

TSU T 3R TaeraTy Sl 96 oTd €
Correct Ans : A
Subject : Staff Nurse

Q.No: 148 Which of the following would you see in a child who has been diagnosed with laryngotracheobronchitis?
2591905

frofifad & § oy Te W 5= A F i R A fedisiFeTsed (laryngotracheobronchitis) @1 e faar mar 82
Predominant stridor on inspiration
A
TROM R 75 RIS
Predominant expiratory wheeze
B
TS Y YT
High fever
C

I gER
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Slow respiratory rate

It e R
Correct Ans : A

Subject : Staff Nurse

Q.No: 149 Which of the following symptoms would a nurse look for in a child who has coarctation of the aorta?

2591906
TRTYT BT FewdIoH a1d g H U T Fefafed § 9 S 3 aeoN $ aar s
Powerful pedal pulses
A
wfFamed tsd U
Reduced carotid pulses
B
IS v B F7 FAT
Normal femoral pulses
C
A &F U™
Arms with bounding pulses
D

TRET U F A1y St

Correct Ans : D

Subject : Staff Nurse

Q.No: 150 A baby who has recently been identified as having congestive heart failure is being cared for by a nurse. What clinical symptom would be most likely to be present?
2591907

TF 1 o 719 € F Holfed 81¢ ek & = H UggHT T 7, SYD! ST TP -1 gRT B1 o G 1 B T g1 A0 Tiofe g &) Ta 3ifds GuraT gt

Slow pulse rate

A

i+t uew e

Weight gain
B

HR g1

Drop in systolic pressure
C

Rreiftre qama A firmee

Irregular WBC lab values
D

Sifrafira WBC warT=ITar 7
Correct Ans : B
Subject : Staff Nurse

Q.No: 151 After speaking with the parents of a child with Down syndrome, the nurse should assist the parents in determining which goal to pursue?
2591908

I3 RigH ard 5= & A-feT § o1 B3 & 916, 6 B A1ar-Rar &1 o Fufva a3 & Jemar st @ike?

Encouraging the child to develop self-care abilities.

TR B ATH-TEUTT rarsit & fawfia $e & g vientea s

Daily imparting new knowledge to the child.

yfafe = &t a1 J v R

C Encouraging the child to have more flexible behaviour restrictions.
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= B AfF T SraeR ufadef & fore vienfea s

Acquiring social skills that are age-appropriate.

3TY-IUGEI I IR U BT
Correct Ans : A

Subject : Staff Nurse

Q.No: 152 A nurse is assisting with the delivery of a newborn child in a delivery room. Which of the following does the nurse do after the delivery to prevent heat loss in the baby due to
2591909 evaporation?

Td Fe B TF T Taud I Bl T F Ted 7R 6 T U6 F 91G aHR0 F HRO g B T & JHaH B b & g T Foiiied § 3 @ ad g

Warming the crib pad.

A

urerT &S W e

Activating the overhead radiant warmer.
B

Sfiaves ASae anik @1 Afpa STl

Closing the room's doors.
c

P & Geam d¢ DAl

Using a warm blanket to dry the infant.
D

gy B gEm & g T dae BT ITET HATI
Correct Ans : D

Subject : Staff Nurse

Q.No: 153 A mother of a baby with myelomeningocele wonders if her child is likely to have any other defects. The nurse responds based on her understanding that myelomeningocele is
2591910 5sspciated with which among the following disorders?

TR ard 9= &) A Tt § 6 31 39 o= A IS 37 A 8 31 WIS 81 T S0 THL & MR W A <ot ¢ b Arsami-iRiie smdR w Fufifed & ¥ 5y faer 3 ge1 82

Overabundance of cerebrospinal fluid inside the skull.

A
TIUSt & siey AT i 5a 3 siftraarl
Unusually small head size.
B
SRR %0 ¥ B RR 31 eMaR|
Lack of the cranial vault from birth.
C
S & PUT Fef BT WA
The cranial sutures are broken.
D

HUTA ¥ i ge T §l
Correct Ans : A

Subject : Staff Nurse

Q.No: 154 Which of the following health teaching should the nurse include in relation to the sickle cell crisis?
2591911

a0 Yo & Geiy 7 7 51 Fffd & § $ w1 wreg Riewr wmia s Tige?

Dehydration and a changed metabolism are the causes.

fetefieror ok we ufivafda Targ=g sRu g1

B The main issues are vascular occlusion and tissue hypoxia.
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Haet A1 3R FHaw TrEviiRTE g@T PR F|

Hypertension will be brought on by raised bilirubin levels.
c

I T 9 g el TRl gRT @man s

An increase in white blood cells is accompanied by a decrease in clotting factors.
D

g o FIRIF1eT # 3f Faifen sReY & w3t & a1y R B1
Correct Ans : B

Subject : Staff Nurse

Q.No: 155 What are the criteria for diagnosing pregnancy-induced hypertension?

2591912

myfaer & MRd I YT & Fram & g @@ aEds ¥

20 week gestation, two consecutive BP measurements of 120/80 mmHg, taken four hours apart.
A

20 W@IE &1 M1, IR 48 & HavTd ) 120/80 mmHg ¥ @ER &f it Ay |

20 weeks gestation, two consecutive BP measurements of 120/80 mmHg, taken two hours apart.
B

20 TWTE BT MPre, & 4 & 3HeRTd W 120/80 mmHg & TER &f §1dt A |

After 20 weeks of pregnancy, two blood pressure readings, each taken four hours apart, were 140/90 mmHg.
C

TUTTRIT & 20 TEIE & 916, TaTdd i & AFET 140/90 mmHg, 9 | Tl &) IR €2 & favTa W ferar ma

After 20 weeks of pregnancy, two blood pressure readings, each taken two hours apart, were 120/90 mmHg.
D

THfaRIT & 20 AW & q1G, &) Ygaary HfET, TAS & 92 b faRTd W, 120/90 mmHg A
Correct Ans : C

Subject : Staff Nurse

Q.No: 156 What do we mean by exclusive breastfeeding?

2591913
FIF WU I FART 1 A 32
Infant food and breast milk
A
fRrgy SmeR 3R Wi FTgY
Supplying only breast milk
B
e 7 & gu A g
Ingest breast milk beforehand
C
& g $Y e § Frra &
Breastfeeding a newborn while taking a sip of water
D

AauTd B Ut BT e fUard g WU BRIy
Correct Ans : B

Subject : Staff Nurse

Q.No: 157 A mother reports mild, irregular abdominal cramps to the nurse at 30 weeks gestation. The nurse suspects that it is due to which of the following?
2591914

T Hf 30 TwE H T § T B ged, 3afia U § Uo7 B Rl St 71 T @1 Geg § b g Pl § 3 fegs sro e

Braxton hick's contractions

S§ge e G
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Onset of preterm labour

B
SURUT 47 T YT
Acidity
c
¥ A
Anxiety
D
e

Correct Ans : A

Subject : Staff Nurse

Q.No: 158 What is the average length of a human pregnancy?

2591915

HHg THiaR # shad derd e @t &2

38-40 weeks
A

38-40 WS

34-36 weeks
B

34-36 WG

40-44 weeks
C

40-44 T@TE

30-34 weeks
D

30-34 WG

Correct Ans : A

Subject : Staff Nurse

Q.No: 159 What is the average amount of iron required during pregnancy?

2591916
TUfaRT % R MR I 3NTd A fFat snawas gt 87
400 mg
A
400 faefiam
1000 mg
B
1000 firfm
1500 mg
C
1500 fircfum
1800 mg
D
1800 fircfamw

Correct Ans : B
Subject : Staff Nurse

Q.No: 160 What short-term objective is most suitable for a patient with paranoid personality disorder and poor social abilities?
2591921

RATTS A fegeiidR ok Tvme Tmisie emarsit aret It & T S a1 sicuwmifers I a8 Sugad 82

A Get opinions from other people.

GET IT ON

Google Play
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3 N A I YT HRATI

Discuss scenarios that make you anxious.

B

I ufveal w79 % St st fifvT s §

Discuss both the pros and cons of self-mutilation.
C

3ra-fRpfa & va-fver 41 3t ==f Fifm

Determine personal feelings that impede social interaction.
D

aafemTa yraeit @1 Frufia ¥ & amfvme dud J arer smadt 3

Correct Ans : D

Subject : Staff Nurse

Q.No: 161 A client with a schizotypal personality disorder is being cared for by a nurse. Which of the following is something the nurse would anticipate seeing?
2591922

RpvileRud fddd PR ard FaEe $t T@HT T T4 gRI 3 off 1 ¢ | Fafifed # § o @ 3 99 § i 3 9t 7 Seiie sufl?

Exhibitionism

A
weEiaTg
Impulsiveness
B
SaTferar
Bodily illusions
C
IRIR® yw
Repetitive behaviours
D

GIEAER ATER

Correct Ans : C
Subject : Staff Nurse

Q.No: 162 In which setting do applied research seek to solve a clinical problem?

2591934
AeT s THT Y B B & T SIYgEd SHYE fr AT F gt 22
Controlled
A
Frafia
Laboratory
B
TR
Natural
C
EiEancy
Simulated
D
qHel

Correct Ans : C

Subject : Staff Nurse

Q.No: 163 One registered nurse may be in charge of medication administration, another of admissions and discharges, while nursing attendants change linen, provide hygienic care, or p
2591935 simple procedures for which they have been trained. What is the name of this nursing practice model?
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T Uoiigrd - gal YR 1 UURT &) Tl 8, R Uaw 3R Get &l UMK 81 Tl 8, Safs ARfT uRaRe M seod 8, T SuHTd UeH S 7, 37 IRT Uihand &=d ¢ o forg 3 uiifére
39 ARfT g ST BT A T 82

Functional nursing

A

wrafes aRfT

Team nursing
B

&w R

Primary nursing
C

wrufdre ARfr

Total patient care
D

pa AN T

Correct Ans : A

Subject : Staff Nurse

Q.No: 164 There are several models for integrated healthcare systems. Which of the following is a feature shared by all systems?

2591936
THIHd WG T@UTE Yonerd & forg ¢ wisa 7| fFafafed & 3 SF-R ot wft gonferdt grr wr=m & it 82
Only provide selective care
A
Faa gfiar SEUTT Ue™ FATI
Deliver a whole continuum of care
B
TgHTa B T PR T AT
Only treat patients in the hospital.
C
Sreqara § Rk wdislt o1 gars ST
Only provide care in the primary care setting.
D

Fad urufiie ST AT F TTUTA Yo S|

Correct Ans : B
Subject : Staff Nurse

Q.No: 165 Benchmarking and quality management are two strategies for raising the standard of care. Which of the following best describes the main difference between these two strate
2591937

FIIIEHT IR ToraTT Ve SEUT & TR B ggH & U & Yurifat §1 Fefiid § ¥ o 91 9 3 worifadl & de T 3R & 9a 33T quf el 82

The outpatient setting is not conducive to quality management.

A

33e Ui AT qura wee F Rig e T8 21

Benchmarking compares results across numerous contexts and disciplines.
B

YT B8 weuT ok fawal & aRome At goT Fwar 21

The primary care setting is the only one where quality management is used.
C

Wi S@UTA T € T U TIE ¥ el ura YEY BT SUENT At Wi g

Benchmarking only examines nursing-specific outcomes.
D

Samfd Faa ARfT-faRry afom 3 s s 2
Correct Ans : B

Subject : Staff Nurse
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Q.No: 166 Because of which of the following, cultural diversity poses a significant challenge to nurse managers?

2591938
Prafifea & J frwe SR, T ey & R GRephie ffyar v Agayol g 82
There is a shortage of nurses
A
Tt 3w R
Staff nurses are not taught to be sensitive to cultural differences
B
wI T P Aieplas sl & iy sde=ia g 781 Rramar smar @
Eighty percent of nurses are members of one or more minority groups
c
Rt wfamra 7 e a1 e SreuiEre TqEl F Wew §
The patient population and the nursing staff both exhibit an increase in cultural diversity
D

A arardt 3R ARET wTw Y wikefae R A 5 weRfa o §

Correct Ans : D

Subject : Staff Nurse

Q.No: 167 Which of the following is a major driving force behind healthcare policy changes?

2591939
75 # § $F-u1 w@rea ifd § 9eae & S T THE IRom e 82
New technology
A
T8 TP
Outsourcing of services
B
Harait FF reeHIRFT
Emerging role of nurse practitioners
C
T4 fafearel 3t IRt yfter
Ability to pay for health care
D

WA WU & RIT Y B B gmar

Correct Ans : D
Subject : Staff Nurse

Q.No: 168 Which of the following represents a significant new obstacle to health care reform?

2591940
9 & I B 1 WA @Y YR & T T Teayul 7% 9141 &1 g Fvar 32
Decrease in immigration
A
SyaTe § S
Nursing staff shortages
B
ARfT wTE Bt P
Bioterrorism
Cc
99 warg
Increased surgical procedures
D

affea uftrars & i3

Correct Ans : C

Subject : Staff Nurse


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2477 Eooale Play

Q.No: 169 Advanced healthcare technology, such as integrated health records, has enabled the nurse to do which of the following?

2591941
I WA TGUTA T, I TPIpd W@ Repfe, 3 7= & Fafofad & 3 o a=7 & "em s m 22
Skip the nursing process's assessment step
A
ARfT ufthaT & Yeai WU Y Bis
Purchase medications
B
g T
Collect blood samples
C
T & T dfiforg
Monitor the vital signs of patients
D

Afrt & wEwayel THal @t FRRER B¢
Correct Ans : D

Subject : Staff Nurse

Q.No: 170 The nurse manager has changed the nursing delivery system's method from functional to team nursing. A nursing assistant is resistant to change and does not actively partici
2591942 facilitating the change process. Which of the following approaches is the most effective in dealing with the nursing assistant?

T AR 7 AR fechiadt Rien & a8 & srfas 3 9 IR & sea R 31 e aRkfT Serae uRady & e ufRid § ok uRad= uftear &) gRueHe s & afva ¥ & ymr 3¢ aar g1 3R
Y TEER HA A Fgfrad & § HIF 91 S Tad gt 32

Ignore the resistance

A
ufoRTY ot ST B
Apply pressure on the nursing assistant
B
ARFT WerI® W gaTa TTY
Set up a system of encouraging rewards for the nursing assistant
C
IR TEEe & T vidie RER @ e ' &Y
Confront the nursing assistant in order to encourage the verbalization of feelings about the change
D

gRad= & IR A HiaA1ST & Mf@¥HHI0 B Miafed F3= & R aRfT wermes &1 amw

Correct Ans : D
Subject : Staff Nurse

Q.No: 171 The CNA and nurse manager are discussing the CNA's time management. Which of the following best describes a nurse manager who also serves as a coach?
2591943

CNA 3R T Usitis CNA & T Ui IR =i o @ &1 FEfifld § ¥ S1H-31 U 1 A9SR &7 Ja8 33T 90U $Hdl & S U &g & &Y 7 1t Bf = 82

"Your prompt response to the call lights for patients is exceptional”

A
Tt ¥ T wia arge & Ry smuast @fa wfafear R 3
"Your appearance is rarely businesslike"
B
"3yet SR e § H arewTe gkl 8
You must take the vital signs promptly to avoid punishment
C

| ¥ 999 & AT oMUt g Aewayul Gddl B AT A0RY

D You never provide blood sugar levels in the morning on time.
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g ot oft YaE THY R IS IR dqq B AEGRT T 3 §
Correct Ans : A

Subject : Staff Nurse

Q.No: 172 Which of the following benefits would a nurse say would be most important to an organisation thinking about adopting a practice partnership model?
2591944

NI AHERT HISH Bl 30 S IR F W 8 WToA & Y 1 T4 &1 Fe § F Fofofld § S oF @1 @y 9e9 veayyl gem?

Customers express more happiness.

A
ued 3P G o B
Compared to other models, it is more expensive to implement.
B
3= ASEl B go A, Y A HAT A wEW 2
Care continuity is improved.
C
TgHTe FraRar § guR gon @
Being a leader is widely regarded.
D

TP A1 1 F 1A SATYS FY J HEAT ST §

Correct Ans : C

Subject : Staff Nurse

Q.No: 173 Which of the following medical conditions would benefit from the use of a nursing critical pathway?

2591945
R fpfewa wrd & Iwam § Fafafed § & S9-3 ffvala Rifa § e gmme
Foreign object in the ear
A
FT § T8 v g
Unknown cause of fever
B
FER BT T BRI
Hip replacement surgery
C
fou Rrarerde aoit
Bacterial infection contracted in a foreign country
D

ofaryy s v Rt v # e
Correct Ans : C

Subject : Staff Nurse

Q.No: 174 A staff nurse is assisting a patient who is on a critical educational pathway in preparation for home care. Which of the following responsibilities would the nurse prioritise?
2591946

Th WIH T T TS B Gl AR @ S TR R SIHT P 99X B U Teaqu! e anf R 1 7 Frofoied # § fra Rmierdt & wrufirsar 2fe

Vital signs are being taken.

A
Hgqel wa g o @ §
Responding to the client's inquiries
B
YTEP Bt THATS BT WaTd ST
Evaluating client instruction.
C

e FE BT geaie
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Going over the information with the client and his family.

IE® 3R IqP TRAR & WY TSR] W o1 W@ &

Correct Ans : D

Subject : Staff Nurse

Q.No: 175 What does the term logos mean in the context of sociology?
2591951

TR % e & AR weg 1 T oref B2

Science/Study

A
faqm/ srema=
Social
B
TS
Society
C
A
Companion
D

w|rft
Correct Ans : A

Subject : Staff Nurse
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